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use ross-— m\JH\‘?\icod‘\‘on 1t Solve®

O X xx2 5 X E.\V.
B 3 ® x—6 Xx-2 2,6
§x =5 (x+2) N (x—6) = 5(x-2)
gx =X VIO L5 6x =5x -0
<x —ox =10 & _bx —5x ¥10=0

5X =10
T Y& - 11X x10=0
> (x —\o)(x =1)=0
z.F.W
o 7 _10
> Y-\0=0  X= %},\Ug
X-1=0 X=
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use LCD b clear SWG\CJY\‘OVLS/ thew Solve .

Be awave oS excluded \alues.

X2 x-2 x4
Lep= (xa2)(x=2) , BV

1 S 4

T(x-2) +L(x~2) ="

Y —2 4 x A2=1

use LCD to clear SWO\CJY\‘OVLS/ thew Solve .
Be awave oY excluded  \alues

AX 4> _,_24—4: S —6%
xX-1 X+ XA2x =3

Leps (x 43)(x-1) BV L3

(Y*’ﬁ(zms) _(x-A) 2 = 56X
oxFa3x 4 bx A —2X A2 7O x bx =0

B2 Uac = 13 —4(X(E) = 1E8-18 =120
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2
2% x13xX +b6b=0 \2\ =1
=2 b=\ C=6

2(?) 4 2
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go\‘pq Comn do O Cevouin ;\0‘0 i 2 hvs alone

while Yo Con Ao Ve Same 50\0 imn 6 hvs

Q\o“@_

Wow) \OY\3 does it Fake Sov thom Wo K/Mg

R
Yoyethe T do this 1ob /\5°t yLlt-o

-
John —> > hvs —pRale lfg % N % =1
A
Nowm —D 6\\\/3 ’—?EO\JW— 6 one LCD:é
wor K \)A N \A‘)O\"K ‘9\6 = C_OW\P\QJTQ 2{:* /Lt:éa
John Jowm Worfc 3t=¢

Rode - lime Rate < lim @9 @

A ﬁkes ?ow\ S waino tes \oYLSW ﬂ\QYL i B

do o job.
\)\)OVKW\@ Yoqether, they con Ao i+ = 6winutes.

‘ 10l Qlore.
ginc) how \O“B vWoekes ?Ow\ o do JVLL JO Qilon

Tt —» X minotes —»Pate \—k

A
Yool — (X+‘5> minutes —p Rade. ——
Work © one
U\.)O—Y‘\é‘ b‘\’) N 2ol \(5 - (OWL?\QJrQ
Ay ) Wk
r[ZoﬂLC * \iwme TaCjG, . \iw\e ‘ . :1
X6 b= Lo Y

X xX~5
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6 6 -1
X X+
Leh = x (x+43) , X>O

E(x45) y 67X = X (x15) |
2

696 A 30 '\E(X =X %SX X:\O />><3

Tvs 10 mung,

v P
2% A30 =X A5X

K X SOx  —\2X ~20=0

2

A _ax —30=0

fpc?e A com S\ oup am emply Pool in R hvs

- in 10 bws
/\)\'?&Bf——-_._,

Hrow \OV\S Qoes it Yuke both. pipes \/Oorkma
T Silop an e mpiy ool T

\§°t +‘\—Oft:1 %*%:L
Lep= 1O
5t + =40
St =0
£-10 44




December 12, 2018

’P(?e A con SI\ vp ow emply  Pool n % hvs,

|
P\'?& S - - e“LPAT‘( o Soll Pool \ 0 hvs.

Hrow \OV\S Qoes it take both f\’Pes \A)orkma

T SiWop o emphy ool T

Distance  Problewms

d -t
\\%—V Niwme
Ecd‘e (SPEECD
Distance

You dvive ab 60 mph Sor g hrs

d-r-t
- 60 (%) = 270

A=t —bSee Ser t
po o 210
v 60
t=4.5
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Povl Can voun (5 miles

ﬂm‘k Avis Can Ao 2| WL(\eS

QQ\)\ Yuwns QW\\>\r\ %\owe\/ W\om s,

Cind Speed Sov both. cloeld
bt Rl 2] ¢ | s
Pl ~ ¥ Taers Teis X \ + \2\
|5 21
z = _ 21
-2 X ox=4
CvosS — MU\J“P\\S 2\()(~2> -9 x xX=]
Aves TW\?K O\x =42 = 19X
Koo\ SW\P‘/\ 21X —\9x =42
Alex Avives 210 miles iwm The Same time thet

Luvs Avives V90 wules

ftlex %Ftecl 'S 30 W\Fh S lower than twice oS
S?eeé\ \3\6 Luvs. \ o\ - A
S(v\c}\ S‘fﬁec)\ \03 ‘DO\—\’L. RE\ey

_ Luis 150
Rvex Lurs
2\ - . 5
% _ V50" 24 _ A5
2.X-30 X 2X%-30 X
5 (?,x—303 =X
Lurs —> 50 YYLP\A 10X - \50 = 1X
_ - 150
Mex —> N0 W\FV\ lox - 11X
3x =150

x=50
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Lowmd (s \o\owmj of 4o mph

R plane  Slies 160 wules Witk wind
i Yo Same tiwe that iF Shes 640 mules
agacnst the wind. oyt A

with wind 10
SiVIA S‘)QQA OS_ ﬂu 9( t q(vo
Plone  in Shil aar Rymasl 0| € [0
>
Tow = ¢ M e
¢ ReainsT
?;g;, 5 S et
- &0 X490 x40
y*"lo X0 5 3 . 2
=elwe xX44p  XMo
3 (x-40) = 2 (X A40)
3%-120 =2X R0
3X-2X=]0¥I20
X =200

2 S ook ravels (65 wul\es Aown Stveaw
i e Same Fime that it Avavels 135 muyles
U?gwe&m. %?Qec)\ 0§ Yhe Ccovrent 15 SWLPK,

S speed & the bast e g

w Shll Waler, dowmshem 714‘/5 T | 65
UYS‘\YQO\W\ X~=5 + 125

LpS Weaw = JE Acou‘)\vk S-tveow 116(_5) -9 ()( +,5>

Q\
ol 33 Nx-55=%x +45
g X +5

@@Q/X =100 :7(;50
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Marisela Avrove SO wules in The Q‘Jf‘( anck

120 wuwles on T Wrghway .

slev © yu\\ Y,
She Was SAriving 20 wph Sasfer on the hughwa!{

She dyvove O +0*‘m\ oS’ Lk‘\VS.
Sondh S)DeeA ow The h\'ﬁ‘\m/a\(,

tl + £, =4 \ v |t \\ A
th N \20 y C"AY\( X tl CTO
A X120 \%q\\ww{ \7(*20 \ JCZ 130

x>0

80 0y F00A2) + 120X =4 (X429

A X420 Divide by 2
Led= X (x4 20) 45 (x+20) + 6% x = 2X (X420
x>0 &
RS X +S00 + 65X=2x 140
LJP+(M€ 2 X
(x 45 ) (2410)-0 WOX %00 = 2% +40X

2 X AM0X ~OX Si00=D

o
"o ?é\ 2x” <lox —S00= 0

S mph i the ity Divide by 2 Tovdoe
65 waph on tha Righwa! 9= 35x —450=0
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Branden frams Sov & Aol o8 Chvs Jdey
on the loa!l beach. -

Ko Swims 3 wmiles agamst th Covvenl;
and 3> mules with The Covvent:

S?eeéx oS the Covvenl is 2 W\P‘\.

Wow Sast Cam hie Swim still water?

3&3% with \1*5 {}l 15
X5 X5 Oyauns| \ X -5 \ 4;2\ 2
LN e
xS )
x>5S

Lep - (xA5)(x-5)

11(x-5) yalxas)=2 +5) (x5

1L(x-5) A (s ) = 2 (xA5) (x-5)
ix —55 ax 45 =2(X -9

oy — 50 =2 (x> 25)
Divide by & b vedue

6x %‘9/—‘%2745/
x> — 6% =0

x(x —6)=0

50N




